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\%hat are plate tectonics? How do plate
) _ 1Fz.l:‘_'m‘«:mu':nr.s: transform the earth crust?
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2. (a) Give an account of different types of
fronts and weather associated with
them.
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() What is -hydrological cycle? How do
different components of this cycle
function in tandem?
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3. (a) ich are main oceanic currents of the
world? Compare and contrast the
climatic impacts of North Atlantic Drift
and Labrador Current on coastal areas.
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\Mhﬂl do you understand by ecological

balance and imbalance? Discuss the

factors contribuling to global ecological
imbalance. 25
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4. What do you understand by dichotomy
and dualism in geography? 25
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Mcaﬂib: the salient features of
behavioural geography. 25
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S. fa) Descnibe the characteristics and
geographical distribution pattern of
human races in the world. 25
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(b) What are the problems associated with
urban expansion and growth in the
world? 25
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ki What ia federalism? Why do we need it
for the succcasful governance of a
geo-culturally diversified country? o
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(b) What is the basis of Whittlesey's

classification of world into agricultural
regionn? 25
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7.' fa) Which nre Lhe main physiographic
divislons of Indin? Describe different

mngen and relief features of Himalayas.
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distribution of tribal population in

Indin.
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(b) Give an sccount of main forest-based
industries of India and their
geographical distribution. 25 |I -
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9. fa) What is the role of National Highway
Authority of India in construction and
maintenance of road infrastructure in
India? 25

M) Why have slum arcas expanded in
urbian centres of Indin during last three
decades? How do they influence urban
environment? 25
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10. ‘ |
\/{ﬂ-ﬁhm are the majn causes of regional .-
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\ﬂ*f/ DJBE ,-5 issues involved in the

“~___-Indo6-China burder dispute. - .
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11.
\ﬂg&:t are the sallent features of agricultural
and use and cropping pattern in Bihar?

Analyze the agricultyral
Sbate. pmblems of the
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12. (a).~Throw LighE__ on the causes and

consequencés of industrial backward-
#‘__I_}E-Ss'bf Bihar,
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Why Bihar continues to be one of the
least urbanized States of India?
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